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Probability – Tree Diagrams.

1) Use this tree diagram to show the possible outcomes if you flip a 
coin twice.

H

H

T

T

H

T

1st

outcome
2nd

outcome

P(HH) =    x     =

P(HT) =     x     =

P(TH) =     x     =

P(TT) =      x     =

b) Calculate the probability you will roll one even and one odd 
number. 

…………………………………………………………………………………

2) You roll a dice twice. The dice is numbered 1 to 6. 
a) Draw a tree diagram to help calculate the probability you will roll two 
even numbers. 
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3)    You have a bag containing 6 red and 4 blue counters. 
a)    What is the probability you will pick:

a red counter ?.....................

a blue counter ?...................
b)    You pick a counter from the bag, make a note of its colour and          
then replace it.  You then pick a second counter. Draw a tree 
diagram to show all the possible outcomes.

c) What is the probability you will pick:

two red counters?

…………………………………………………………………………………

two blue counters?

…………………………………………………………………………………

one red and one blue counter?

…………………………………………………………………………………
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4)    You have the same bag containing 6 red and 4 blue counters. 

a)    This time you pick a counter from the bag, make a note of its 
colour but don’t replace it.  You then pick a second counter. Draw a 
tree diagram to show all the possible outcomes.

b) What is the probability you will pick:

two red counters?

…………………………………………………………………………………

two blue counters?

…………………………………………………………………………………

one red and one blue counter?

…………………………………………………………………………………
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Probability – Tree Diagrams. (Answers)

1) Use a tree diagram to show the possible outcomes if you flip a coin 
twice.
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P(HH) =    x     =𝟏
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𝟐

𝟏

𝟐

𝟏

𝟒
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𝟐
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2) You roll a dice twice. The dice is numbered 1 to 6. 
a) Draw a tree diagram to help calculate the probability you will roll two 
even numbers. 
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b) Calculate the probability you will roll one even and one odd 
number. 

P(even then odd) + P(odd then even) =       +        = 
𝟏

𝟒

𝟏

𝟒

𝟏

𝟐

©All Things Maths   www.allthingsmaths.co.uk



Name: ....................................                         Date: …………………….

Answers.
1) You have a bag containing 6 red and 4 blue counters. 
a)    What is the probability you will pick:

a red counter ?

a blue counter ?

b)    You pick a counter from the bag, make a note of its colour and          
then replace it.  You then pick a second counter. Draw a tree 
diagram to show all the possible outcomes.

c) What is the probability you will pick:

two red counters?

…………………………………………………………………………………

two blue counters?

…………………………………………………………………………………

one red and one blue counter?               +                =

…………………………………………………………………………………
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B
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B

1st

counter
2nd

counter

P(RR) =     x     =

P(RB) =     x      =

P(BR) =    x      =

P(BB) =     x     =
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Answers.

4)    You have the same bag containing 6 red and 4 blue counters. 

a)    This time you pick a counter from the bag, make a note of its 
colour but don’t replace it.  You then pick a second counter. Draw a 
tree diagram to show all the possible outcomes.

b) What is the probability you will pick:

two red counters?

…………………………………………………………………………………

two blue counters?

…………………………………………………………………………………

one red and one blue counter?               +                =

…………………………………………………………………………………
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B
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P(RR) =     x     =

P(RB) =     x      =

P(BR) =    x      =

P(BB) =     x     =
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